1968 4R 3L [4]
f(x)=ax® +bx? +cx+d (@=0), g(x) = px® +qx+r &35,
f(x)g(x) = (@x® +bx® +cx+d)(px® +gx+r)

=apxX +agx’ +an +bpx* +bgxé +brx® +cpx® +cqx? +crx+ dpx® + dgx+dr
=apx + (aq+bp)x* + (ar+bg+cp)x® + (br +cq + dp)x? + (cr + dg)x + dr
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Lf(x)g(x)dx=J:1{(aq+bp)x4 + (br+cq + dp)x? +o|r}dx=2j0 {(aq+bp)x* + (br + cq -+ dp)x? +drdx
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=2[aqqtbpxt—,+br+cq+dpx3+drx} =2[aq+bp+br+cq+dp+drj=0
0
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3(aq+bp) +5(0br+cq+dp) +15dr=0 ..(3b+5d)p+(3a+5c)q+50+3d)r=0 —O

OMEED p,q, r ICOWTHLT DD T,

3b+5d=0, 3a+5¢c=0, b+3d=0 ..b=d=0, c:—ga
L7ZAR->T, a=5AL LT, f(X)=AGX>-3x) £ BT 5, 2) kY

J._ll{f(x)}2 dx= A2.|._11(25x6 —-30x* +9x2)dx:2A2[275 x" —6x° +3x3IJ = 2A2(2—75—3J:§A2 =1
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